L

et ¥ ¥ A A

24 LTl A R 1 L rT(1085 £ B~ )
110£4° 29p 1095 & & % 25 B ¥ 1= fgdes B
111211 21p 1115 & &

5 1E 8% 1=k

5o 8 o8 $z S
—gy | -8y —gy | -5y —gy | -5y —gy | -5y
o g [ |8 [ B G #oor G #oor g [ | g [ w |F5 8 P
EIREE S EIEEE S EIEES EIREES
B (-)(=) 21 22| 2 #23¢(-)=) 1]2)1]2
#2(-)(=) 2 2 2| 2 [E@ugaa(z)(r) 2(2]2]|2
fj A=)t Eae [ 2 2| 1|/ 16 18
]
)3 66| 4|4 3 34|34 )3 3 ofofo]|oO
A (= )t / / 2 2 FRE i / 2 2
i 4 4
)3 ofof 2|2 3 ofofo]oO )3 oo 2]2 3 ofofo]|oO
#@*T HHW(-) 3| 3| /| R % 33| /|| RS S G 27|
Ry B3| /|| swaR (=) 3| 3| /| |r@F Rk LH 3| 3| 1| (s 202 1|1
AL S 22| Ll A s Ry | S| ] 3| 3 [HEmiEe 22| /|1 g [ A
o m R e Ry Il 1] 3| 3 [t g(-) I 1] 3| 3 |2aEelie(-) /|12 47 49
-) /| 1|33 B At /1|33
W EEeRY L A T
|3+ 88|66 |2+ 66|66 3t 88|78 |3+ 34|33
(- )(=) 22|22
g
i3
%
i
g
P
#
i
BEEERY - 33| /e gy = 3| 3| /| |mHreEeyvs 33| [ |mas gy 3| 3| /|
BELERY - [REAEEEREESES e Pl 3] 3 [meesgys Pl 3| 3 (gt ERy s A A <
A (1)(7) 33|33 |inky 20 20 | PRRERRE R 22| LT AR R 3| 3| /|
L9 ar 20 2| 1T | R 202\ /| rEdee s 33|/
. IR 2 2 / I |48 & 2 2 / [* A2 bl o 3 3 ! /
z ERTET | 21 2| 1|1 |&+8 2 2| 1| T AR s 3| 3| /1|1 61 61
’f;‘ B4R 2| 2| 1|/ |mrep ey | 2] 2| 1| 1 |agewes 3ls| /|1
l R AR 20 2| 1| 1 |peea 21 2| 1| ] |#miea /{7 |3]|3
E R Y P33 |spidl 20 2| | | e et /| 1] 3|3
i B Il 2| 2 [#ps8 20 2| 1| ] |*Aumedir |22
i wRPES / ! 2 [ 2 [*#p b gkt ! ! 2 | 2 | endage ! ! 2|2
) 1 RE R / / 2 2 | #pae / / 2 2 |1 ¥% r8iEs / / 2 2
ARRFR S [ 1| 3] 3 [+ s Tl 2] 2 [maHs Iy rf2f2
F- 4 Il 22|48k / I 2| 2 |[#fstitesh / /12| 2
B4 #(2) P 2| 2 |gans Pl 2| 2 [spgraseamgy | 1| 1] 2] 2
SHA AR Il 2] 2|pdcgbp Il 722
FRRY Il ] 2] 2 xR /| 1] 3|3
BFEEE S ARARAR
ERE 313|3]|3 EHRE 717|81|8 EHRE B 91 9|77 ERE 12|12 12| 12
&3t 17 17| 15| 15 £ 16| 17| 17| 18 L3t 17 17| 16 | 17 &3 15|16 | 15| 15| 128 | 132
o AT o

- R

S 2 P BT R RS .
TRis 0 AERIIAM Bk 3 WA

B NS RE



